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1. (15 points) This question is a variation of one of your homework problems. Please ignore time value of
money for this question! That is, there is no cost to waiting.

Consider a perfectly competitive industry with 100 identical firms. Here are further details on the industry:

Each firm is operating with a fixed cost of $1,000 and TVC of 5Q°+10Q and the industry demand is given by
P = 400-2Q/19.

a) (S points) Given that the industry is in the short run, which is one year, that is, there is no entry and
exit, how much profit would be made by each company?
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b) (10 points) Assume there is no entry. One of the firms tomes up with an innovation that reduces its
costs significantly which allows this firm to make higher profit year over year compared to others and
accumulate significant amount of funds that will allow it to survive any loss. Then, the innovator firm
would like to take over the entire industry by undercutting everyone. At what price should it offer the
product?
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2. (22 points) A young engineer starts a company, ITLV (Into The Ladybug Verse), to mangfacrur: and sell
a new device which is not protected under intellectual property law (that s, itﬂw‘ﬂj = d sell
duration of short run is 1 year, that is, it takes 1 year to commit to the fixed equipment, Dde.UCE a\:/hse :
Assume that all costs are due at the beginning of the year. Revenue is p_bgajmad at thejM- . en
one year ends, a new cycle begins and this process is repeated forever (assume the company will exist

forever).

Currently, ITLV is the only company producing this product with the following cost structure and market
demand: o

TFC =4,200
TVC = 10Q?
Demand: P=4,200-50Q

As ITLV is getting ready to start a new production cycle with the above cost structure and market
demand, a competitor with the same cost structure approaches with the following offer:

L.ITLV can purchase the competitor at $x today or
2.ITLV has to share the market demand with the competitor. That is, ITVL will have the same cost
structure but can sell only half of what it could sell at each price.

a) (15 points) If the interest rate is 10% per year, and ITLV chooses to buy the competitor today, what is
the maximum S$x it should pay? (Assume costs and prices stay the same into the future and the default is
for ITLV to produce and optimize its profit each year forever. That is, the companies do not get into a
price war but maximize their own profit given their cost structure and their market demand.)
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Multiple Choice (5 points each)
/ (7!/ nic
?és\;f;l:;ri:r:out to start a company to sell laptop computer accessories. You paid $4,000 to a market
pany to identify the profile of your target customers. You are planning on using a family
property which used to be rent‘!efd for 15000/year, as your office. You will need an industrial designer
and supplies and equipmen‘?%n induétrial designer costs $1,800/month and supplies and equipment will

cost SZ?,OOO/month. lgnoring discounting, what is the total cost that you should include in your NPV
calculations for the first year?
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A. 25,800 )
B. 25,800
309,600
@ 321,600
E. 325,600
F. 468,800

4. In a typical production process, specialization is represented by

A. the intersection of MC and ATC curves
B. upward sloping MC curve
C. steep portion of the TFC
flattening portion of TVC curve
}./ the increasing portion of the u-shaped ATC curve

5. If price is equal to the minimum of ATC curve, then which of the following is not correct:
L O

A. Firm does not make positive economic profit

; B At the optimum production level, total revenue is equal to total cost
. Optimum production occurs at a quantity where ATC is minimum
@ Since firm is making zero economic profit, the resources would bring higher returns at their
alternative uses.
E. At the optimum production level; price, marginal cost, and average total cost coincide.

| 6. The following curve depicting the average total cost and the average variable cost shows the two

curves converging as output increases because
" fixed costs are increasing.
B. variable costsincrease at an increasing rate.
\/’6 average fixed cost is decreasing.
/ average fixed cost is constant.
E. variable costs increase at an increasing rate.
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7. If a firm can reduce its ATC by switching to another scale, then we can be sure that

A. currently firm is operating where ATC is decreasing.
B. currently firm is operating where ATC is increasing.
@ marginal cost must be flat.

D" capacity has been reached.

@ doubling the size will not double the costs.

8. If the firm pictured below faces a price shown at A, then the firm

A. earns a profit equal to the area of AKLB
B. earnsarevenue equal to the area of ABRG
C. earns a profit equal to ACNG
)) incurs a total cost equal to the area of BCNR
/Q earns a profit equal to the area of ABRG
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9. The following are true about advertising except

\/A. It plays a more effective role in monopolistically competitive markets than in perfectly
competitive markets

\’ Itis used to reduce product differentiation

/' C. ltis used to make a firm’s demand curve less price sensitive.
/' D. Itis used to increase a firm’s market share.
\/ E. ltis used to reduce consumer sensitivity to price changes.
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D .
etermine whether each of the following statements TRUE or FALSE. In either case,
briefly explain your reasoning. (4 points each)

10. TRUE/FALSE: Perfect Competition is not necessarily the best market structure for encouraging
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11. TRUE/FALSE: The “short-run” in the life of a business is widely accepted as 2 to 3 years. 1 L
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12. TRUE/FALSE: A business owner who continues to produce with zero economic profit i;{niot En;king L
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13. TRUE/FALSE: Price customization software used%’ﬁ onhCne trading is a form of price discrimination.
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14. TRUE/FALSE: Company A and B are competing in the same market. As Aincreases its ? ;
spending, the demand for A’s products will be more price sensitive and the demand for B's products w;l{{p X
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15. TRUE/FALSE: Given fixed capital and equipment, labor efficiency increases continuously as the size o
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16. TRUE/FALSE: If Marginal Revenue is equal to Average Total Cost at the optimal production level, then
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